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(@) F.=kQ[2/16+0.8(4/25)]x10* =3.64x10™* N
F, =kQ’[6/9—0.6(4/25)]x10* =8.22x10* N
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F, = kQ*[~6/9+0.6(3/25)]x10* =-8.57x10™ N
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(a) F=9x10° _2)(10 X52><10 +2X10 ><32><10 i
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F=90(6/16 — 10/4)i=-191i N
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F=90(10/4 - 15/36)i = 188i N
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(a) F,=9x10°| — cos 60° +

3x2x10°%x2x2%x107° 3x2x10°%x2x107° ;
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F,=9x10°

3x2x107°x2x2x107° . .
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0.03

F.=0, F,=F3sin60° soF=208jN;
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= (F23 — F21) c0s60°, F)=—(F>1 + F3) sin60°, so F = 80i—277j N.
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r=2.73m, (—2.73c0s48.8°, —2.735in48.8°) = (—1.8,~2.05) m
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(a) F =9x10” x =421x10° N(#54)

(b) F =9x10° x =29x107 N(%3l4)
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(@) kgO/x* = k(990)/(4 —x)* » #& x=1m.

FRAE90 £+ L% 90%16=90q/9 » F|* q=-90/16

b) 1/ =9/(4+dy > 4= d=2m & x=-2m.
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Felec/Fgrav = kQ1Q2/GM1M2 = 285 X 10718

13.(1) & =ik pEdem> » 2
- s B RS R R o
k(q)2q)/r* =02 » F|} g==+133nC, 2g =+267 nC

14.(0) - B3 q=2uC 3*Qm,1m)> ¥ - 2iF g2=-5uC (-2 m, 4 m)
fuo deq (vr g 1t B o
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F=k(10"/25=3.6 x 10° N
F,=08F=288x10°N; F,=-0.6F=-2.16x10°N
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